Short Answer Questions

[2 Mark]

Q.1. Write the integrating factor of the following differential equation:
2 . dy -
(1+y*)+ (2xy — coty) =0

Ans.

(1+32)+ (2xy - coty)E =0
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It is in the form % + Px = @Q, where Pand Q are function of y
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Q.2. Write the general solution of the differential equation % = %
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Integrating both sides, we get
log |y] = log |x|+ log |C]
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= y=0Cx
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Q.3. Find the general solution of the differential equation ? =

x  1+x2
Ans.
; dy 1432
Gl\«(.rl 'd—x- = mz-
= dy dx

1+ 1+a2
Integrating both sides we get

dy dx

1+y2 1422
= tan!y=tan' x+ C

Q.4. Find the general solution of differential equation.

dy _ 1 -cosz
dx = 1l4cosz
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= dy= (sec2§ - l)dx
Integrating both sides

= [dy= [sec?z/2dx — [dx

= y=2tany-z+C

Q.5. Solve the differential equation

% = (1+2%) (1+4?)

Ans.

; d
Given Ey = (1+2%)(1+4?)

Y —(1+2?) dx

1+y?

= [ox=J(+2) &

TH?
= tan"1y=x+§+0

Q.6. Solve the differential equation.
ylogydx- xdy = 0
Ans.



Given y log y dx - xdy = 0 |
= ylog y dx = xdy
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Let logy=
= sdy =dt

= logt=log x+log C \where C, = log C]
= E= €x

= log y= Cx
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Q.7. Solve differential equation % + dy—y =0.

AnsS.



= logy=-logx+log C
= logy+logx=Ilog C
= log xy=log C

= xy=C



